SETTING UP MMRF FOR DEALING WITH TWISTS

The following equations, new or modified, deal with twists:

[three groups of equations, E_x1a, E_x2a and E_x3a]:

Equation E_x1a # Demand for goods by all source, User 1 #
x1a(i,s,j,q) =IS_DOM(s)*{x1c(i,j,q)-SIGMA1C(i)*[p1a(i,s,j,q) -p1c(i,j,q)]- 
[1-DOMSHR1(i,j,q)]*twist_src1(i,j,q)} + IS_IMP(s)*{x1o(i,j,q)-SIGMA1O(i)*{p1a(i,"imp",j,q)-p1o(i,j,q)} +DOMSHR1(i,j,q)*twist_src1(i,j,q)};


In the above, the term twist_src1 appears in place of the technical change term a1a. This is calculated in the following equations:

Equation E_a1sum # Share weighted sum of tech changes #
 (PVAL1O(i,j,q))*a1sum(i,j,q)=Sum{s,TwoSrc,PVAL1T(i,s,j,q)*a1a(i,s,j,q)};
Equation E_alaA
(all,i,COM)(all,j,IND)(all,q,REGDST)a1a(i,"dom",j,q) =-{1-DOMSHR1(i,j,q)}*twist_src1(i,j,q) +
SIGMA1O(i)*{a1a(i,"dom",j,q)-a1sum(i,j,q)}+f1domtwst(i,j,q);


The primary factor demand equations have been modified:

Equation E_x1lab # Industry demands for effective labour #
(all,j,IND)(all,q,REGDST)
x1lab(j,q) = x1prim(j,q) - SIGMA1FAC(j,q)*[p1lab(j,q) - p1prim(j,q)] + CAPSHR(j,q)* twist_lk(j,q);


E_p1cap # Industry demands for capital #
x1cap(j,q) = x1prim(j,q) - SIGMA1FAC(j,q)*[p1cap(j,q)- p1prim(j,q)] - [1-CAPSHR(j,q)]* twist_lk(j,q);

E_p1land # Industry demands for land #
x1land(j,q) = x1prim(j,q) + a1land(j,q) - SIGMA1FAC(j,q)*[p1land(j,q)- p1prim(j,q)] ;


E_alcap # Allows elimination of compositional tech change in . in dev'n #
-[1-CAPSHR(j,q)]*twist_lk(j,q)  = a1cap(j,q) - SIGMA1FAC(j,q)*[a1cap(j,q)- a1fac(j,q)] + fcap_twst(j,q);
 
E_allab # Allows elimination of compositional tech change in twist_lk in dev'n #
CAPSHR(j,q)*twist_lk(j,q)  =
a1lab(j,q) - SIGMA1FAC(j,q)*[a1lab(j,q)- a1fac(j,q)] + flab_twst(j,q);
 
E_alland # Allows elimination of compositional tech change in twist_lk in dev'n#
a1land(j,q)  = SIGMA1FAC(j,q)*[a1land(j,q)- a1fac(j,q)] + flnd_twst(j,q);
 
E_twistlk # Industry + regional twist #
twist_lk(j,q) =  twist_lk_q(q)+ftwist_lk_q(j,q);

Equation E_a1fac
a1fac(i,r)=FACSHR("lab",i,r)*a1lab(i,r) + FACSHR("cap",i,r)*a1cap(i,r) + FACSHR("lnd",i,r)*a1land(i,r);
The closures are as follows:
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